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1. Which of the following is not a primary color? 

a. Red 
b. Yellow 
c. Orange 
d. Blue 

 
2. Complementary colors use 2 hues that_________________on the color wheel. 

a. lie directly opposite   
b. are side by side 
c. are 3 colors apart 
d. none of the above 

 
3. ____________ is recognized throughout the United States and Canada annually on 

October 16th. 
a. Halloween 
b. National Boss Day 
c. National Grandparents’ Day 
d. Mother’s Day 

 
4. Which of the following is a filler flower? 

a. Roses 
b. Baby’s Breath 
c. Carnations 
d. Daisies 

 
5. When wiring roses the most typical use is? 

a. Hook wiring 
b. Wrap around wiring 
c. Cross wiring 
d. Piercing  

6. In corsages we use floral wire that is sold by gauge size. Which of the following gauge sizes 
would have the biggest diameter?  

a. 16 gauge   b.  20 gauge   c.  24 gauge  d.  30 gauge 
 

7. What color of rose represents friendship? 
a. Red    b.  Yellow   c.  Pink  d.  White 



8. When refrigerating flowers for less than 2 days what is the ideal temperature in 
Fahrenheit? 

a. 32 
b. 37 
c. 42 
d. 47 

 
9. Scientist who identifies plants is known as? 

a. Gardeners 
b. Herbologists 
c. Taxonomists 
d. Plantidentist 

 
10.   An imaginary line created by a series of repetitious elements is a ____________ line. 

a. Actual 
b. Psychic 
c. Implied 
d. Vertical 

 
11.  In traditional floral designs the center of interest in visual activity is called __________. 

a. Focal Point 
b. Center Point 
c. Visual Point 
d. Mid Point 

 
12. Which of these is not considered a warm color? 

a. Red 
b. Orange 
c. Purple 
d. Yellow 

 
13. Which of these flowers is not considered a tropical flower? 

a. Orchid 
b. Protea 
c. Poppy 
d. Ginger 

 
 
 
 



14.  The pistil is the female part of the flower.  Which of these is not part of the pistil? 
a. Style 
b. Ovary 
c. Stigma 
d. Filament 

 
15.  A botanically complete flower consists of: 

a. Pistil and Stamen 
b. Pistil, Stamen, Petals, Sepal 
c. Pistil, Stamen, Sepal, Stem 
d. Sepal and Pistil 

 
16.  What transports nutrients from the roots to the leaves? 

a. Arteries 
b. Xylem 
c. Phloem 
d. Tissue 

 
17.  Which of the following is the simplest method of plant material preservation? 

a. Freeze Drying 
b. Pressing 
c. Air Drying 
d. Treating with Glycerin 

 
18.  Euphorbia pulcherrima is the scientific name for: 

a. Easter Lily 
b. Poinsettia 
c. Shamrock 
d. Azale 

 
19.  What does the acronym AIFD stand for? 

a. American Institute of Floral Design 
b. American Industry of Floral Design 
c. American and International Floral Design 
d. None of the above 

 
 
 
 



20. High style designs are ___________ arrangements that emphasize shapes, angles, and 
clean lines. 

a.  Asymmetrical 
b. Symmetrical 
c. Radical 
d. Open 

 
21.  Which of the following is a perennial? 

a. Dusty Miller 
b. Peony 
c. Geranium 
d. Coleus 

 
22.  Which of the following plants requires the most water? 

a. Aloe Vera 
b. Begonia 
c. Rubber Plant 
d. Hydrangea 

 
23. This is a three color scheme composed of any hue, plus the two hues adjacent to its 

compliment? 
a. Double Compliment 
b. Split Complimentary 
c. Alternate 
d. Tetrad 

 
24.  Which is an example of a line flower? 

a. Iris 
b. Larkspur 
c. Lily 
d. Rose 

 
25.  The term _____________ is defined as: a flow or movement characterized by the regular 

reoccurrence of elements or features. 
a. Repetition 
b. Transition 
c. Rhythm 
d. Sequencing 
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Problem	
  1:	
  
A	
  florist	
  has	
  been	
  asked	
  to	
  prepare	
  an	
  order	
  for	
  an	
  upcoming	
  wedding.	
  	
  The	
  order	
  consists	
  of	
  15	
  
corsages,	
  17	
  boutonnieres,	
  and	
  a	
  bouquet.	
  	
  Each	
  corsage	
  costs	
  the	
  floral	
  owner	
  $3.50	
  in	
  
materials.	
  	
  Each	
  boutonniere	
  costs	
  the	
  floral	
  owner	
  $1.95	
  in	
  materials,	
  and	
  the	
  bouquet	
  costs	
  
the	
  floral	
  owner	
  $26.50	
  in	
  materials.	
  	
  The	
  floral	
  owner	
  is	
  marking	
  up	
  all	
  wholesale	
  prices	
  by	
  150	
  
percent.	
  	
  In	
  addition,	
  the	
  owner	
  charges	
  a	
  30%	
  labor	
  charge.	
  	
  What	
  is	
  the	
  total	
  cost	
  of	
  the	
  
flowers	
  for	
  this	
  wedding?	
  
	
  

A. $364.49	
   	
  
B. $386.36	
   	
  
C. $300.00	
   	
  
D. $280.38	
   	
  

	
  
Problem	
  2:	
  
The	
  local	
  mall	
  wants	
  to	
  purchase	
  a	
  #7	
  Dieffenbachia	
  for	
  an	
  interior	
  display	
  in	
  front	
  of	
  the	
  new	
  
GAP	
  store.	
  	
  	
  	
  What	
  would	
  be	
  your	
  selling	
  price	
  for	
  the	
  dieffenbachia	
  if	
  you	
  wanted	
  to	
  make	
  a	
  
10%	
  profit?	
  
	
  
Wholesale	
  price	
  -­‐	
   $80.00	
  
Mark-­‐up	
  -­‐	
  	
   	
   60%	
  
	
  

A. $140.80	
  
B. $128.00	
  
C. $48.00	
  
D. $130.80	
  

	
  
Problem	
  3:	
  
FLOWERS	
  4	
  U	
  just	
  received	
  an	
  order	
  from	
  a	
  customer	
  that	
  lives	
  37	
  miles	
  away.	
  	
  They	
  ordered	
  27	
  
centerpieces	
  for	
  a	
  large	
  reception	
  to	
  be	
  held	
  that	
  evening.	
  	
  The	
  wholesale	
  cost	
  of	
  each	
  
centerpiece	
  is	
  $15.29	
  each	
  (does	
  not	
  include	
  labor).	
  	
  Each	
  centerpiece	
  takes	
  40	
  minutes	
  to	
  
make.	
  	
  The	
  owner	
  marks-­‐up	
  the	
  wholesale	
  prices	
  by	
  150%,	
  which	
  includes	
  the	
  labor	
  mark-­‐up.	
  	
  
The	
  delivery	
  charge	
  is	
  $27.50	
  (not	
  taxable).	
  	
  If	
  sales	
  tax	
  is	
  7%,	
  what	
  is	
  the	
  total	
  bill	
  for	
  this	
  order?	
  
	
  

A. $1032.08	
  
B. $1104.33	
  
C. $1500	
  
D. $1131.83	
  



Problem	
  4:	
  
A	
  designer	
  must	
  be	
  responsible	
  for	
  the	
  contents	
  of	
  their	
  designs.	
  	
  They	
  also	
  need	
  to	
  make	
  sure	
  
the	
  design	
  is	
  priced	
  correctly.	
  	
  The	
  owner	
  of	
  Freddies	
  Florals	
  has	
  an	
  order	
  for	
  a	
  $50.00	
  
arrangement	
  in	
  a	
  basket.	
  Plant	
  and	
  hard	
  good	
  materials	
  are	
  as	
  follows:	
  
	
  
4	
  –	
  stems	
  Leather	
  leaf	
   	
   $.25/stem	
  
6	
  –	
  stems	
  Eucalyptus	
   	
   $.50/stem	
  
2-­‐	
  stems	
  Star	
  Gazers	
   	
   $5.00/stem	
  
11	
  –	
  stems	
  Red	
  Carnations	
   $1.50/stem	
  
½	
  bunch	
  Heather	
   	
   $6.00/bunch	
  
1	
  -­‐	
  White	
  basket	
   	
   $5.00	
  
1	
  -­‐	
  Oasis	
   	
   	
   $1.50/block	
  
Labor	
   	
   	
   	
   20%	
  
	
  
What	
  is	
  the	
  cost	
  of	
  the	
  total	
  fresh	
  and	
  greens?	
  

A. $32.50	
  
B. $33.50	
  
C. $35.00	
  
D. $42.00	
  

	
  
	
  
Problem	
  5:	
  
Allie	
  has	
  determined	
  that	
  the	
  cost	
  of	
  labor	
  is	
  25%.	
  	
  If	
  you	
  have	
  an	
  arrangement	
  that	
  you	
  sell	
  for	
  
$75.00,	
  what	
  is	
  the	
  labor	
  cost?	
  

A. $50.00	
  
B. $27.50	
  
C. $18.75	
  
D. $22.50	
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Problem	
  1:	
  
A	
  florist	
  has	
  been	
  asked	
  to	
  prepare	
  an	
  order	
  for	
  an	
  upcoming	
  wedding.	
  	
  The	
  order	
  consists	
  of	
  15	
  
corsages,	
  17	
  boutonnieres,	
  and	
  a	
  bouquet.	
  	
  Each	
  corsage	
  costs	
  the	
  floral	
  owner	
  $3.50	
  in	
  
materials.	
  	
  Each	
  boutonniere	
  costs	
  the	
  floral	
  owner	
  $1.95	
  in	
  materials,	
  and	
  the	
  bouquet	
  costs	
  
the	
  floral	
  owner	
  $26.50	
  in	
  materials.	
  	
  The	
  floral	
  owner	
  is	
  marking	
  up	
  all	
  wholesale	
  prices	
  by	
  150	
  
percent.	
  	
  In	
  addition,	
  the	
  owner	
  charges	
  a	
  30%	
  labor	
  charge.	
  	
  What	
  is	
  the	
  total	
  cost	
  of	
  the	
  
flowers	
  for	
  this	
  wedding?	
  
	
  

A.	
   $364.49	
   	
  
B.	
   $386.36	
   	
  
C.	
   $300.00	
   	
  
D.	
   $280.38	
   	
  

	
  
Answer:	
  	
  (15	
  x	
  $3.50)	
  +	
  (17	
  x	
  $1.95)	
  +	
  (1	
  x	
  $26.50)	
  =	
  $112.15	
  x	
  150%	
  =	
  $168.23	
  +	
  112.15=	
  $280.38	
  
280.38	
  x	
  .30	
  =	
  $84.11	
   $280.38	
  +	
  $84.11=	
  $364.49	
  
$364.49	
  x	
  .06	
  tax	
  =	
  $21.87	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  $364.49	
  +	
  $21.87=	
  $386.36	
  

	
  
Problem	
  2:	
  
The	
  local	
  mall	
  wants	
  to	
  purchase	
  a	
  #7	
  Dieffenbachia	
  for	
  an	
  interior	
  display	
  in	
  front	
  of	
  the	
  new	
  
GAP	
  store.	
  	
  	
  	
  What	
  would	
  be	
  your	
  selling	
  price	
  for	
  the	
  dieffenbachia	
  if	
  you	
  wanted	
  to	
  make	
  a	
  
10%	
  profit?	
  
	
  
Wholesale	
  price	
  -­‐	
   $80.00	
  
Mark-­‐up	
  -­‐	
  	
   	
   60%	
  
	
  

A.	
   $140.80	
  
B.	
   $128.00	
  
C.	
   $48.00	
  
D.	
   $130.80	
  

	
  
$80.00	
  x	
  60%	
  =	
  $48.00	
  	
  	
  	
  	
  $48	
  +	
  $80	
  =	
  $128.00	
  	
  	
  	
  	
  $128.00	
  x	
  10%	
  =	
  $12.80	
  
$128.00	
  +	
  $12.80	
  =	
  $140.80	
  
	
  
Problem	
  3:	
  
FLOWERS	
  4	
  U	
  just	
  received	
  an	
  order	
  from	
  a	
  customer	
  that	
  lives	
  37	
  miles	
  away.	
  	
  They	
  ordered	
  27	
  
centerpieces	
  for	
  a	
  large	
  reception	
  to	
  be	
  held	
  that	
  evening.	
  	
  The	
  wholesale	
  cost	
  of	
  each	
  
centerpiece	
  is	
  $15.29	
  each	
  (does	
  not	
  include	
  labor).	
  	
  Each	
  centerpiece	
  takes	
  40	
  minutes	
  to	
  



make.	
  	
  The	
  owner	
  marks-­‐up	
  the	
  wholesale	
  prices	
  by	
  150%,	
  which	
  includes	
  the	
  labor	
  mark-­‐up.	
  	
  
The	
  delivery	
  charge	
  is	
  $27.50	
  (not	
  taxable).	
  	
  If	
  sales	
  tax	
  is	
  7%,	
  what	
  is	
  the	
  total	
  bill	
  for	
  this	
  order?	
  
	
  

A.	
   $1032.08	
  
B.	
   $1104.33	
  
C.	
   $1500	
  
D.	
   $1131.83	
  

	
  
answer:	
  	
  27	
  x	
  $15.29	
  =	
  $412.83	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  $412.83	
  x	
  150%	
  =	
  $619.25	
  	
  	
  	
  	
  $619.25	
  +	
  $412.83=	
  $1032.08	
  
$1032.08	
  x	
  7%	
  tax	
  =	
  $72.25	
  	
  	
  	
  	
  	
  	
  	
  	
  $1032.08	
  +	
  $72.25	
  =	
  $1104.33	
  +	
  27.50	
  delivery	
  =	
  $1131.83	
  

	
  
Problem	
  4:	
  
A	
  designer	
  must	
  be	
  responsible	
  for	
  the	
  contents	
  of	
  their	
  designs.	
  	
  They	
  also	
  need	
  to	
  make	
  sure	
  
the	
  design	
  is	
  priced	
  correctly.	
  	
  The	
  owner	
  of	
  Freddies	
  Florals	
  has	
  an	
  order	
  for	
  a	
  $50.00	
  
arrangement	
  in	
  a	
  basket.	
  Plant	
  and	
  hard	
  good	
  materials	
  are	
  as	
  follows:	
  
	
  
4	
  –	
  stems	
  Leather	
  leaf	
   	
   $.25/stem	
  
6	
  –	
  stems	
  Eucalyptus	
   	
   $.50/stem	
  
2-­‐	
  stems	
  Star	
  Gazers	
   	
   $5.00/stem	
  
11	
  –	
  stems	
  Red	
  Carnations	
   $1.50/stem	
  
½	
  bunch	
  Heather	
   	
   $6.00/bunch	
  
1	
  -­‐	
  White	
  basket	
   	
   $5.00	
  
1	
  -­‐	
  Oasis	
   	
   	
   $1.50/block	
  
Labor	
   	
   	
   	
   20%	
  
	
  
What	
  is	
  the	
  cost	
  of	
  the	
  total	
  fresh	
  and	
  greens?	
  

A.	
   $32.50	
  
B.	
   $33.50	
  
C.	
   $35.00	
  
D.	
   $42.00	
  
	
  

(4	
  x	
  $.25=1.00)	
  	
  	
  	
  	
  (6	
  x	
  $.50=3.00)	
  	
  	
  	
  (2	
  x	
  $5.00	
  =	
  10.00)	
  	
  	
  (11	
  x	
  1.50	
  =	
  16.50)	
  	
  (.5	
  x	
  6.00=3.00)	
  
$1.00	
  +	
  $3.00	
  +	
  $10.00	
  +	
  $16.50	
  +	
  $3.00	
  =	
  $33.50	
  
	
  
Problem	
  5:	
  
Allie	
  has	
  determined	
  that	
  the	
  cost	
  of	
  labor	
  is	
  25%.	
  	
  If	
  you	
  have	
  an	
  arrangement	
  that	
  you	
  sell	
  for	
  
$75.00,	
  what	
  is	
  the	
  labor	
  cost?	
  

A. $50.00	
  
B. $27.50	
  
C. $18.75	
  
D. $22.50	
  

	
  
$75.00	
  x	
  $.25	
  =	
  $18.75



2013 Iowa FFA Floriculture CDE 
Phase V- Pesticide Use and Application 

 
1. You go to work for a company who sprays pesticides for most of the greenhouses in Des 

Moines.  One condition of your employment was for you to become certified to apply necessary 
pesticides.  You research the requirements.  You find that to become certified, you must: 

a. obtain a private pesticide applicator’s license. 
b. obtain a public pesticide applicator’s license. 
c. obtain a certified  handler’s license. 
d. obtain a commercial pesticide applicator’s license. 

 
2. As the owner of several greenhouses, you are very concerned about the safety of your 

employees.  You want to use pesticides that have the least potential of causing poisoning of 
your employees.  Which of these pesticides is the safest for humans? 

a. Pesticide A has an LC50 of 15 
b. Pesticide B has an LC50 of 20 
c. Pesticide C has an LD50 of 15 
d. Pesticide D has an LD50 of 4000 
e. Not enough information to tell. 

 
3. Which pesticide would you be least likely to use in a greenhouse? 

a. Herbicide 
b. Miticide 
c. Fungicide 
d. Nematicide 

 
4. If you are routinely using organophosphate or carbamate pesticides, you should have: 

a. a hemoglobin test every month to see if you are suffering from acute chemical poisoning. 
b. a complete blood profile done every 3 months to test for chronic pesticide poisoning. 
c. a cholinesterase test before you start the use of pesticides and periodically throughout 

the application season. 
d. have a chemical detection blood test if you show any signs of acute chemical poisoning. 

 
5. When using Integrated Pest Management (IPM) you should? 

a. Use a small amount of pesticides regularly as a preventative treatment.  This reduces 
the chances of having a severe outbreak of the pest and thus reduces the amount of 
pesticide in  total needed. 

b. Scout for pests on a regular basis.  Use pesticides just as soon as you see the first sign 
of a pest. 

c. Scout regularly.  Then treat when the pests reach an economic threshold.  Evaluate your 
control method including biological, mechanical, chemical, and cultural. 

d. Use a well planned fertilizer and watering program that will prevent 95% of all disease 
and insect infestations. 

 



6. Which choice accurately lists the 3 things that are necessary for diseases to  develop? 
a. A susceptible host plant, a live pathogen, and a favorable environment 
b. Bright light, high temperature, and a shortage of  moisture. 
c. Dim light, low temperature, and an excess of  moisture. 
d. Extreme light conditions (too dark or too light), extreme temperature (too high or too 

low), and extreme moisture (too dry or too wet) 
 

7. The letters PPE stands for  
a. Plant Pesticide Enforcement 
b. Personal Protective Equipment 
c. Pesticide Planning Environment 
d. People Protecting the Environment 

 
 
Use the 2 MSDS forms to complete the following 3 questions. 
 

8. Which statement is true? 
a. You should induce vomiting if either Sevin Ready to Spray Bug Killer or Malathion 50 % 

are swallowed. 
b.  You should not induce vomiting if either Sevin Ready to Spray Bug Killer or Malathion 

50 % are swallowed. 
c. You should induce vomiting if Sevin Ready to Spray Bug Killer is swallowed and not 

induce vomiting if Malathion 50 % is swallowed. 
d. You should not induce vomiting if Sevin Ready to Spray Bug Killer is swallowed and 

induce vomiting if Malathion 50 % is swallowed. 
 

9. When comparing relative safety to the applicator of the 2 products above as measured by LD50 
numbers 

a. They are virtually the same for both dermal and oral toxicity. 
b. Sevin is more toxic dermally; the two products are have nearly the same toxicity when 

swallowed. 
c. Sevin is less toxic dermally; the two products are have nearly the same toxicity when 

swallowed. 
d. Both the dermal and oral toxicity tests were performed on rats. 

 
10. When comparing the two chemicals on traits that would determine how they should be stored, 

which is statement best compares their physical traits? 
a. Both decompose (become unstable) when they approach 120 degrees F. 
b. Malathion will withstand higher temperatures before it will boil. 
c. Neither chemical is expected to cause human cancer 
d. All are true. 

 
	
  




















